SYLLABUS-2012

Paper 13 : Corporate Laws and Compliance

Over all performance’s is not satisfactory
Question wise performance are as follows :

Q No. Observations
Compulsory rot
e
1a,1d,1le Average — lacking proper presentationz based on rules.
1b,1c not satisfactory
Others
2a Average.

2b,2¢c,2d Unsatisfactory.irrelevant areas covered.
33, 3b, 3c Average — Poor response.

3d More or less satisfactory, poor respeonse.

3e Average — Poor Response.

43, 4d Satisfactory — poor response.

4b,4c Unsatisfactory.poor response also.

4e Average — limited number of candidates attempted.

5a Average

5b,5¢ Satisfactory but response poor

5d Few candidates attempted but not properly answered.
6a Satisfactery but limited number of candidates attempted.

6b,6d,6e Unsatisfactory. Response poor.

6¢ Satisfactory — good response

7a,7b,7c,  Unsatisfactory, poor presentation. Common sense answer,
7d, 7e vague answer. Logical approach lacking.

7f Unsatisfactory — poor response.



Suggestion for improvement of Examinees performance:

It is suggested :-(i) to keep in touch with periodical amendments, to study the Institute's Study
Notes and books of latest edition. (ii) thorough and in depth study is necessary. (iii) careful
reading and understanding the meaning and basic requirement of question, (iv) to avoid
repetition of same points, (v) to provide margin on both sides of the answer books, to provide
adequate space in between two answers , to present in a legible manner (vi) not to write vague

answers (vii) ta improve handwriting (viii) to improve communication skills etc. AnsaNex Qfhall be
bm5¢o] en haldogs




